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) ZpANDE ZTpSDD BED 100g | | 250g | |2kg100g
50 WE A kg TIhH,
2kg100g — 100g = 2kg [ kg ]

(2) EpNRDE EXED BEESDOEN WL [T kg @g TIH

2kg100g — 2509 = 1kg850g [|kggsog]

SHELEL&LS,

180093009~ 500 g

2 1kg 9005~ 6009~ | |kg (3009

3 1kg 2009 - 5009 =700 | o
42ks - 8009 = | |kg 2009

55ke 7009 - 2k 6009 = 3 |ke[100]g
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EX(5]=H)

B 2kgoLebrnems 800g DHVELI,  am o o
DIHEF kg FgTI N W v

2kg — 800g = 1kg2004g [|kgzoog]

2509 DHIIC DATEDET BESEENBE,
1kg200g LB DELIz. DATDESE MgTT

lkg200g — 2509 = 9509 — [ 9509 ]

MEAlC 900g DEEANT ESZEN B L,
2kg100g IKHEDF LI, HNEADESIE kg AgTTh.

2kg100g — 9009 = 1kg200g [ |kgzoog]

3kg230gDF v RYE, 1kg400gD R RN BOET,
FrRYE RYRD BESOBMNWVNE A kg fllg TTHo

3kg230g — |kg400g = 1kg8309g [ |k98309]

B #raAonidhld 1kg750g T, BHSADMIFALD
590 EVWFS5TY, WHIADMIEAIE kg fflg TIT h,

kg750g — 5909 = Ikg160g B [ |q160g)
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@Ikg—3009=g—3009=9

2 4kg6009 —2kg5009 = 2kg 1009 = {21004

@It—700k9=kg—700k9=kg

1kg200g ODRESHS 7509 % BREFUT,
DIOHIE A glTEDERITH,

Ikg200g — 750g = 450g [ 4504 ]

EaM kgD BHKAHBDET, ZIH5
1kg840g 2M>& DO AkgMglTabERI h,

5kg — 1kg840g = 3kgl60g 3kgl60g]|

XEBIADEREIR 29kg800g. 33
whEADIEEIF 25kg400g T, 4, A

2ADEBEDEL W MkgMgTT Mo o

29kg800g —25kg400g = 4kg400g [4kg4009]
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5 X (B1=HE)

-~

FELELLD,
15009-3009=(2001g

@|kg—7009=mg
3 1kg9009-7009-| | |ks[200]g

kg 2009 - 6003 =600«
@3kg—|k92009=[Dk99

© 2kg 7009 - 2kg 3009 =g

@) 3kg 4009- 1 kg 9004 =Ejkg g
8 8kg 2009 - 4kg 8004 =kg g
© 1t - 500k =kg
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X (3l1=H)

HELELES.
18009-2009 = 600/ 9
22ke-9009- | | |kg[100]g
93k 1009-6009=| 2 |ke[500]
% 4k9 5009~ 2kg8009 = | |kg[700]

@Clkg—ékg2009=k99

@ 5kg 1009 - 4kg 7009 =g

® 6kg 6009 - 2kg 9009 =kg g
© | t 300kg - 800 kg =kg
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6) 6kg 8009 - 6kg 6004



EHE AT R =
I

= EX=YEE)

HEULFEFLLDS,

(1) 7809-3509=(430g

2 1kg = 4609 =540 ¢

3 1k9 6509-3509=| | |ke[300]
©4kg 2709-6009=| 3 |ke[670]

510kg ~3kg7200=| 6 |kg|280]
©6kg 4809~ 4ka2609 =| 2 |kg[220]s
75kg 7209 2ke 6509 =| 3 |kg| 70 |g
Tk 2409~ 3ka 5908 = 3 |ke[650]
95t840ks ~3t760ks = 2 |t[ 80 |kg
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